(sinx + sin3x + sin5x) / (cosx+cos3x+cosb5x) + 2tgx=0
(2sin((x+5x)/2)cos((x-5x)/2)+sin3x)/(cos3x+2cos((x+5x)/2cos((x-5x)/2))+2tgx=0
(2sin((6x)/2)cos((-4x)/2)+sin3x)/(cos3x+2cos((6x)/2cos((-4x)/2))+2tgx=0
(2sin((6x)/2)cos((-4x)/2)+sin3x)/(cos3x+2cos((6x)/2cos((-4x)/2))+2sinx/cosx=0
(2sin(3x)cos(-2x)+sin3x)/(cos3x+2cos(3x)cos(-2x))+2sinx/cosx=0
(sin3x(2cos(-2x)+1))/(cos3x(1+2cos(-2x))+2sinx/cosx=0
sin3x/cos3x+2sinx/cosx=0

(sin3x*cosx+2sinx*cos3x)/(cos3x*cosx)=0

sin3x*cosx+2sinx*cos3x=0

V2[sin(3x+x)+sin(3x-x)]+sin(x+3x)+sin(x-3x)=0
Ya[sin(4x)+sin(2x)]+sin(4x)+sin(-2x)=0

Y2*sindx+74"sin2x+sin(4x)-sin(2x)=0

3/2sindx+1/2sin2x=0

3sindx+sin2x=0

6sin2x*cos2x+sin2x=0

sin2x(6cos2x+1)=0

sin2x=0
2x=pk
x=pk/2

6c0s2x+1=0
6c0s2x=-1
COS2X=-%
=-arccos(’%)/2+pk
x=arccos(’%)/2+pk

cos3x*cosx!=0
cos3x!=0
3x=p/2+pk
x=p/6+pk/3
cosx!=0
x!=p/2+pk

2cos(-2x)+11=0

2cos(2x)!=-1

cos(2x)!=-

2x!=5P/6+2PK

x!=5p/12+pk

x!=7p/12+pk

Oteert:-arccos(%)/2+pk; arccos(’%)/2+pk;
pk;




